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____L white
____L blue
____L white
____L green
________ peas and _________ carrots
________ strawberries and _________ grapes
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Problem solving - ratio and proportion @ w_" E S
simplified by dividing.
Discover F P F ) 200 ml of tomato feed is needed
for every 800 ml of water. Woter - Feedt
Method | 800:200
This means that for every | ml of +200 C ) +200

plant feed, Sofia needs 4 ml of water. &

To work out how much water Sofia Water : Feed

must add to 350 ml of feed. we o

multiply by 350. «350 C : ) «350
1400:350

Sofia needs to add 1.400 ml of water.
Method 2

Woter

800 ml water for 200 ml of plant feed.

100[100 ‘ 100 100}

400 ml water for 100 ml of plant feed. i m

00m
200 ml water for 50 m of plant feed.

Feed.

Woter

100] 100 100100100 100] 100 100 100 100] 100 100
mt | mt [ mt| ml | ml

fooToliea 100

e HEREEERE 1k

Com Toom com [ somi [ omt
P

I drew @ bar model to
show the comparison
and scaled it up.

So. for 350 ml of plant feed we add
these up:

0 <) How much water does Sofia need to add to 350 mi of tomato feed?

b) Sofia gives the large tomato plant twice as much feed as the 800+ 400 + 200 = 1400 ml of water
small plant.

. Sofia needs to add 1400 ml of water to
If she gives the two plants 1,200 ml of feed in total, how much feed 350 ml of tomato feed.

does each plont get?
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Ratio and Proportion Problems

Ratio and Proportion Problems

5. Shape A has been enlarged by
different scale factors fo make shapes B,
CandD.

5b. Shape A has been reduced by
different scale factors fo make shapes B,
CandD.

Shape. Length Width Shape. Length | width
A 3em 4em A 12em | 24em
8| | 12em 8 | tem
c | 1sem | c sem |
o | 30em | ) 2em |

Calculate the missing measurements.

ww

Calculate the missing measurements.

v

6a. True or false?

I need 50g of flour for every 10g of sugar.

have 600g of ingredients, | will have
500g of flour.

W

6b. True or false?

I need 25g of flour for every 30g of sugar.

If1 have 275g of ingredients, | will have
& 100g of flour.

7a. The rafio of srawberies fo grapes is
32,

Pippa has 25 pieces of fruitin fotal.

Calculate the number of strawberries and
grapes.

¢

7b. The ratio of peas fo carrofs s 5:4.

Leah has 108 vegetables in fofal.

Calculate the number of peas and
carrots.

i

8a. Jake is buying some paint.

The ratio of white fo blue fo green paint is
20:50:100.

Ifhe buys 200 litres of biue paint, how
much white and green paint will he

need? e
i

8b. Jaiden is buying some paint

The ratio of white fo blue fo green paint is
578,

Ifhe buys 64 lires of green paint, how
much white and blue paint will he need?

1
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